oo = == == ==[1[]

gogoooooggieenooddddiooooooodadanc
000

goo:

OO0 : 2020/7/31 9:17:19

0000000001090 702700 000 0 0109002454000 00 00O

ooooooooo

(OHooooooooooooooo
(O)oooooleolodoooooooolod11000oOoooo30d

(O oooouoooooUoooooooooooooooooooooooooooooooo
O000000dU0oOooouooooouooooooooog
(OHooooooooopioeosde oD oooooooooooooooooooooog
0O0@ooooonooooonos326050000003-2181356)0
goododobooboodooooboooooodoooobooooooobooooooao
goododobooobooooooooad

goododooboooboooooooooooon

O http://www.tyc.edu.tw/home. jsp?id=6&parentpath=0,50 0 0 O

00000000000 000000000000000000008-75123640 0000

0 08-75123540

http://163.30.202.2 2024/5/19 18:42:41 - 1


http://163.30.202.2
mailto:mis@yajh.tyc.edu.tw

